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20138 = =34 2 3l
M1 X 20138% A - M= 0iasSH & 3AHEZ LA NLE = A= FHON2 s 20 (ol M)
+ =2 Ng - HE0&tEN 2 Al Xt Bt N
g A 1,136,239,742 34,087,192
& B3 Al 955,090,549 28,652,716
SEE3A 181,149,193 5,434,476
SILSES A 115,076,368 3,452,291
AT ASSEIA 48,200,524 1,446,016
SSHL AL S E 3 1,473,032 44,191
St ALESE 3 A 65,402,812 1,962,084
JIEFSE3 66,072,825 1,982,185
FEALE SE A 76,425 2,293
HIOISHM2AEMSSES A 6,595,800 197,874
JIBIAE R E RS ESES 77,600 2,328
2SI =ELEdSER N 4,289,990 128,700
SANEEZAMASESN 32,543,059 976,292
Kot+==SE3l A 1,337,771 40,133
SsSNFAZLEALEZSA 2,430,229 72,907
SEHLAMESE SN 4,827,577 144,827
FENESE A 13,380,624 401,419
JIBFAIE S E 3 A 513,750 15,413
M o2 x 20134% H23 =IHEE MY - NS Gla(eh)eo HH= & "M - MS ola(eh)" 20
M 3 & 20138& FAIOIEANES EF "SAMOSAMNEEA"2F 20
Mo 4 & 20138 XX £a st=9%2 10,900,000 @22 &HCt.
Mo 5 & 2013 & LEBte A oidlidl= 2,352,930 @ 22 ot
Mo 6 & 20138 % M23 It s¢ 01F WRHE =502 RnRAesE Od seld H22 2=Helotd 230 A
< S8




